[image: image21.png]




=Year 11            =Polynomial functions            =Worksheet 2
	1. Use the quadratic formula to find the real roots of 

  (i) 
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	2. Find the real roots of (i) 
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(ii) 
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 by completing the square.
    

	3. Find the equation of the axis of symmetry of 
(i) 
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      (ii) 
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	4. Find the coordinates of the vertex of (i) 
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(ii) 
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	5. Find the sum of the roots of (i) 
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(ii) 
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	6. Refer to Q5. Find the product of the roots in each case.
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. Show the coordinates of the vertex, x and y-intercepts. 



	8. Sketch
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. Show the coordinates of the vertex, x and y-intercepts. 




	9. Use the discriminant to determine the number of real roots:
(i) 
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	10. Find two integer values of p such that the quadratic equation 
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 has two rational roots.

	11. Find a quadratic equation in the form 
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	Numerical, algebraic and worded answers.



1.  (i) −1, 11  (ii) 5


     (iii) (−1±(17)/4 


     (iv) No real roots


2.  (i) −1, 5  (ii) (−1±(11)/2


3.  (i) x = 20/3  (ii) x = 17/4


4.  (i) (2/5, −4/5)  


     (ii) (3/4, 33/8)


5.  (i) 7  (ii) 1/7


6.  (i) 9  (ii) −5/7


7.  (1/2, 21/4), 


     ((1+(21)/2, 0), ((1−(21)/2, 0),


     (0, 5)


8.  (1/2, −3/2), ((1+(3)/2, 0),


     (0, −1)


9.  0, 2, 1


10. 0, 2


11. 4x2 + 12x + 7 = 0
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